Math 109   Practice Quiz 6    [with answers]
 1.   It is difficult to weigh a bear that is being tagged so experts have found the following linear model for estimating a bear’s weight(w) in pounds from its chest size(c) in inches.           w = -200 + 12 c.

            If a bear has chest measurement 50 inches, what would you estimate its weight to be using this model?
        w = 400

2.  The number of homicides in a small city with a new follows:

                1999      2000     2001     2002

                 ------------------------------------

                 20           16        13          11  

Let x=1 correspond to 1999.  Find the straight line model for this data using the first and last years’ information. Then use this model to predict the number of homicides in 2003.   

         y = -3x + 23        8 homicides

3.  Solve the inequality     -2r > 6    

               r < -3

4.  Solve the inequality     -5 < 2x+1 ( 9.
               -3 < x ( 4

5.  Solve the inequality     (y-2(  > 6
               y > 8    or    y < -4

